CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

September 16, 2008

Agenda Item: 3.5

Subject: Professional Specialist and Program Leader Personnel

<u>Recommended Action</u>: That the Board of Trustees approves the following Professional Specialist and Program Leader Personnel.

I. <u>ASSIGNED TO CHABOT COLLEGE</u>

A. Employment

General

Barton, Kenneth L., effective 08/20/08 – 12/23/08, \$45.00/hour, not to exceed 40 hours. (maximum = \$1,800) Football statistics crew

Bustamante, Susan C., effective 09/16/08 - 12/15/08, \$25.00/hour, not to exceed 200 hours. (maximum = \$5,000) Assist with online support and Spring 09 schedule and web information

Darwin, Jonathan L., effective 09/17/08, \$2,000 flat rate. Project aide responsible for meal preparation and distribution and monitoring participants to and from the bus

Dazhan, Shirley J., effective 09/17/08 – 12/31/08, \$15.00/hour. Theater House Manager to enforce theater policy and public safety

Duncan-Lindsey, Celestine, effective 09/17/08 – 12/31/08, \$15.00/hour. Theater House Manager to enforce theater policy and public safety

Jackson, James L, effective 09/17/08, flat fee of \$200 (addition to the previously approved \$2,000).

Sport assistant to the Summer Youth Sports Program activity instructor for groups of 40 participants

Mendiola, Lisa A., effective 09/17/08 - 12/31/08, 20.00/hour, not to exceed 20 hours/week. (maximum = 6,400)

Assist with flea market preparation and documentation

Agenda Item: 3.5 September 16, 2008 Page 2

> Morrison, William E., effective 09/17/08 - 12/31/08, \$18.00/hour. Theater House Manager to enforce theater policy and public safety

Peel, Ann, effective 09/17/08 – 12/31/08, \$27.50/hour, not to exceed 1100 hours. (maximum = \$30,250) Sign language interpreter

Ramos, Charmaine M., effective 06/30/08 - 12/31/08, 20.00/hour, not to exceed 2,000 hours. (maximum = 40,000)

Provide outreach assistance for transferring high school students

Robinson, Kyle J., effective 09/17/08, flat fee of \$200 (addition to the previously approved \$2,000).

Sport assistant to the Summer Youth Sports Program activity instructor for groups of 40 participants

Winter, Julia E., effective 09/17/08, flat fee of \$700 (addition to the previously approved \$3,000).

Provide instruction on physical activities for the Summer Youth Sports Program

Yano, Nancy C., effective 09/17/08 – 12/31/08, \$32.00/hour, not to exceed 1000 hours. (maximum = \$32,000) Stenocaptioner

Community Education

Cafferata, Corey P., effective 08/11/08 - 12/31/08, \$25.00/hour, not to exceed 75 hours. (maximum = \$1,875)

Community education basketball coach

Capps, Ann J., effective 09/20/08 – 12/31/08, \$30.00/hour, not to exceed 36 hours. (maximum = \$1,080) Community education instructor to teach quilting class

Groff, Mary Lou, effective 11/03/08 - 12/31/08, \$30.00/hour, not to exceed 72 hours. (maximum = \$2,160)

Community education instructor to teach cake decorating classes

Krusemark, LeeAnne, effective 12/06/08 – 12/31/08, \$14.50/student. Community education instructor to teach business and career classes Agenda Item: 3.5 September 16, 2008 Page 3

> Leal, Kith B., effective 10/18/08 – 12/31/08, \$25.00/hour, not to exceed 55 hours. (maximum = \$1,375)Community education instructor to teach "Pastels" class Matthews, Mike, effective 11/01/08 - 12/31/08, \$45.00/hour, not to exceed 10 hours. (maximum = \$450)Community education instructor to teach Macintosh computer classes Miller, Nancy, effective 10/08/08 – 12/31/08, \$19.50/student. Community education instructor to teach "Clutterology" classes Minichino, Camille, effective 11/08/08 - 12/31/08, \$45.00/hour, not to exceed 10 hours. (maximum = \$450)Community education instructor to teach "Mystery Writing" class Mockel, Dennis E., effective 11/08/08 - 12/31/08, \$35.00/hour, not to exceed 12 hours. (maximum = \$420)Community education instructor to teach computer repair and maintenance classes Moran, Elaine, effective 10/23/08 – 12/31/08, \$24.50/student. Community education instructor to teach mystery shopper classes Palmer, Angela R., effective 10/02/08 - 12/31/08, \$30.00/hour, not to exceed 12 hours. (maximum = \$360)Community education instructor to teach skin care and spa classes Powell, Catherine V., effective 10/13/08 - 12/31/08, \$35.00/hour, not to exceed 50 hours. (maximum = \$1,750) Community education instructor to teach "Conversational ESL" classes Racine, Warren E., effective 10/10/08 – 12/31/08 Community education instructor to teach "Foreclosures" class, \$39.50/student Community education instructor to teach "Real Estate Auction" class, \$17.50/student Rounds, Mike, effective 10/08/08 – 12/31/08, \$19.50/student.

Community education instructor to teach "Business and Publishing" classes

Agenda Item: 3.5 September 16, 2008 Page 4

> Santiago, Juan M., effective 08/29/08 – 12/31/08, \$40.00/hour not to exceed 20 hours. (maximum = \$800)

Community education instructor to teach sculpture classes

Shepherd, Jean, effective 09/01/08 - 12/31/08, \$35.00/hour, not to exceed 42 hours. (maximum = \$1,470) Community education instructor to teach chemistry classes for youth

Soriano, Carine, effective 10/11/08 – 12/31/08, \$25.00/hour, not to exceed 12 hours. (maximum = \$300) Community education instructor to teach "Picture Matting and Framing" class

Spillane, James E., effective 10/18/08 – 12/31/08, \$19.50/student. Community education instructor to teach "Assertiveness Training and Initiating Relationships" classes

Tomosvary, Bonnie, effective 10/11/08 – 12/31/08, \$23.60/student. Community education instructor to teach "Buy and Sell on eBay" class

II. ASSIGNED TO LAS POSITAS COLLEGE

A. Employment

General

Jenkins, Robert L., effective 09/17/08 – 12/31/08, \$45.00/hour. (maximum = \$26,000) Lead the development and implementation of an African American Males Support Program

Submitted: Mary Anne Gularte/Date

Approved: Joel L. Kinnamon/Date

APPROVED

____ DISAPPROVED

_____ TABLED